
15.2 Corrective Assignment #1 – Def. of the Der.  Name: _____________________________ 

Pre‐Calculus 

Find the derivative using limits.  If the equation is given as ࢟ ൌ, use Leibniz Notation: ࢟ࢊ
࢞ࢊ
.  If the 

equation is given as ࢌሺ࢞ሻ ൌ, use Lagrange Notation: ࢌᇱሺ࢞ሻ. 
ݕ  .1 ൌ ݔ6 െ 3 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

ݕ  .2 ൌ 10 
 

3.  ݂ሺݔሻ ൌ ଶݔ2 െ  ݔ6
 

4.  ݂ሺݔሻ ൌ ݔ8 െ ଶݔ2 ൅ 2 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

ݕ  .5 ൌ ݔ√ ൅ 5 
 

6.  ݂ሺݔሻ ൌ ଵ

଺௫ିଵ
 

 



For each problem, create an equation of the tangent line of ࢌ at the given point.  The answer can be in 
point‐slope form OR slope‐intercept. 

7.  ݂ሺ6ሻ ൌ 4 and ݂ᇱሺ6ሻ ൌ െ1 
 
 
 
 
 
 

8.  ݂ሺെ5ሻ ൌ െ2 and ݂ᇱሺെ5ሻ ൌ 2 
 

9.  ݂ሺ0ሻ ൌ 6 and ݂ᇱሺ0ሻ ൌ 8 
 

Given a function and its derivative, find an equation of the tangent line at the given x‐value. 
 

10.  ݂ሺݔሻ ൌ ଶݔ2 െ ሻݔᇱሺ݂   ;ݔ5 ൌ ݔ4 െ ݔ   ;5 ൌ െ1 
 
 
 
 
 
 
 
 
 

 

11.  ݂ሺݔሻ ൌ ݔ4√3 െ 8;   ݂ᇱሺݔሻ ൌ ଺

√ସ௫ି଼
ݔ   ; ൌ 11 

 

Using the function listed, find the equation of the tangent line at the given x‐value. 

12.  ݂ሺݔሻ ൌ ݔ6 ൅ ݔ  ;5 ൌ 3 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

13.  ݂ሺݔሻ ൌ ଶݔ െ ݔ2 ൅ ݔ  ;6 ൌ െ2 
 

Answers to 15.2 CA #1 

1.  
ௗ௬

ௗ௫
ൌ 6  2.  

ௗ௬

ௗ௫
ൌ 0  3.  ݂ᇱሺݔሻ ൌ ݔ4 െ 6 4.  ݂ᇱሺݔሻ ൌ 8 െ ݔ4

 
5.  

ௗ௬

ௗ௫
ൌ

ଵ

ଶ√௫ାହ
 

6.  ݂ᇱሺݔሻ ൌ െ
଺

ሺ଺௫ିଵሻమ
  ݕ  .7 െ 4 ൌ െሺݔ െ 6ሻ

                 or 
ݕ       ൌ െݔ ൅ 10

ݕ  .8 ൅ 2 ൌ 2ሺݔ ൅ 5ሻ
                 or 
ݕ      ൌ ݔ2 ൅ 8

ݕ  .9 െ 6 ൌ 8ሺݔሻ
                 or 
ݕ       ൌ ݔ8 ൅ 6

ݕ  .10 െ 7 ൌ െ9ሺݔ ൅ 1ሻ 
                  or 
ݕ        ൌ െ9ݔ െ 2 

ݕ	.11 െ 18 ൌ ሺݔ െ 11ሻ
                  or 
  ݕ      ൌ ݔ ൅ 7 

12. ݕ  െ 23 ൌ 6ሺݔ െ 3ሻ
                  or 
ݕ     ൌ ݔ6 ൅ 5

ݕ  .13 െ 14 ൌ െ6ሺݔ ൅ 2ሻ
                  or 
ݕ        ൌ െ6ݔ ൅ 2


